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log L*

5.2 LABJIND lightness

log (L* g5 JL* g5.2,) LABIND lightness

. -
L*g52 L*g5 /" g5.2u L 8i'2 normalized to thf
L*gs= (Ya)In (1 +a) [1a] 24100 background lightnessL*gs » ,
L*g55= (/a) In [ 1 + b (Y/Yy)] [23] LL* = (Wa) {In(1+aY)-In(1+aYy} [1b]
a=0,3411 t=88,23  t/a=258,6 b=6,141 [3a] L¥L* (= (a) {In[1+Db-(Y/Y)l - In(1+b)} [2b]
’ =0,3411 t=88,23 t/a=258,6 b=6,141 [3k]
331000 100 (Lr g5 972,70 m=0,43 L. 1419
L* 52,7508 Y,=18 L A 1,810
1
24100 759°¢° ! ) 100l 5521 852910, M=043 o =
L4 | ommmm- L* 52,7508 Y,=18 2% mmm——
' application - . , application
1 range 0 145' , range
1 ’
1 0,1 1 10 ,Y,=18100y » 0,1 [ 4 10 "Y,=18100y
-2 -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
EES550-1A EES550-2A

1

logAY  CIE tristimulus value difference AY

AY L*gs o= (Ua) In (1 +ay) [1c]
10 a=0,3411 t=88,23 t/a=258,6 b=6,141 [4
tristimulus value Y difference
dY = (A1+A,"Y)/Ag, see CIE 230; Eq. (A.7a)[4c]

log(AY/AY,)  CIE tristimulus value difference
aviay, AYnormalized toAY,,
24100 * g5 7~ (@) In (1 +a) [1d]
a=0,3411 1=88,23 ta=258,6 b=6,141 [4
normalized tristimulus value Y difference

dY=(s+qY)/c, seRichter(1985) [3c] dy/dy,=(1+aY)/(1+aYy) [3d]
OFl Gy=(1+av)/t 0.3985¢ 10 4,917
dY=(1+b(Y/Y)]/t » 6 R
A;=5=0,0170 A=q=0,0058 A=c=1,5,* [7c) R
10,1 V=18, d¥,=0,08 d¥,/Y,=0,004 ,* 1 JC18 %008 dY/V=0002 o
SR R R P —— log[(dY,)/(dY,)]=0, m,;=0,86 ¢ ; e
log(dY,)=-1,09 m=0,86 ¢y gpplication Ol (EY1=0, My .* | application
0,015, ¢ ’ 1 range 0,18‘7, . range
! 1
5 0.1 (3 10 ,Y,=18100y » 0.1 T 10 "Y,=18100y
-2 -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
EES550-3A EES550-4A
log (AY/Y) CIE Y sensitivity log [(AY/Y) / (AYy/Y,)]  CIE Y sensitivity
S=(AYIY) S/S,=(AYIAY,/Y,) hormalized to AY,/Y,,
031 Lrgs=(a)ln(L+ay) [1e] 24100 % g5 = (a) In (L +a'Y) [11]
a=0,3411 t=8823  t/a=258,6 [2d] a=0,3411 t=88,23  t/a=258,6 [2f]
tristimulus value Y sensitivity tristimulus value Y sensitivity
b @Y= (1ran/(ty) [3€] 1o @M @vyvy
' =[(L+avyydal(1eav) /vyl 131
0,015 application &~ R
[ range . 0,885
-240,01 L R
log(dY,/Y,)=-2,34 m=-0M18  _ 0,003 og[(dYy/Yu/(dY/YWI=0, m=-013y _ 70 _ _
V=18 dv,=0,08 dY,V,~0,004" ~} " ® Y=18 d¥%,=0,08 d¥/¥,=0.004 1 application
. 0,1 1 10 'Y,=18100y » 0,1 1 10 'Y,=18100y
-2 -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
EES550-5A EES550-6A
log (Y/AY) CIE Y-based contrast log [(Y/AY) I (Y/AY,)] CIE Y-based contrast
C,=(Y/DY) CICy=(YIAY)(Y IAY,NOrmalized to Y /AY,,
L*gs 7= (Ya) In (1 +aY) [1d] 24100 % g, = (Ya) In (1 +aY) [1h]
a=0,3411 t=88,23  t/a=258,6 [24g] a=0,3411 t=88,23  t/a=258,6 [2h]
tristimulus value Y contrast tristimulus value Y contrast
YidY=(1+aY)/(t 3
371000 ( e * iy1o (Y/dp l‘57UIiY:)a-Y /1Yyl (1+aY, 4h
Y,=18, dY,=0,08 Y,/dY,=222 251 2 =0y T/ Wl [l
X '."g’.[(ful.d!”).:.z'.3'4."112.0'.13._._.,_ -, Y,=18, dY,=0,08 Y,/dY,=222 1129
2L 100 570" ob 1. PIOYAI0, =013 | g
[ 4 o - | ——
: application 0,29> - , application
range [ 4 , range
L 0,1 1 10 1Y,=18100y > 0,1 1 10 'Y,=18100y
-2 -1 0 1, 2 log(Y) - -1 0 1 2 log(Y)
EES550-7A EES550-8A
EE550-7N

2 e

log L*g5,2LABIND lightness

log (L* g5 JL* g52,0 LABIND lightness

Lgs.2 L*gs JL*gs0, L 85,2N0rmalized to the
24100 ! baciground lightnessL* g5 2
920,3
34 1000 l00(L 552 0=2.70 M=043 .= 1410
Le527508 =18, 4 1,810
1
24100 759°7 . O a2 0520120, ME043_ =
¢ |- L*g55,7508 Y,=18 o %) mm—
: application il , application
, range 0,149 . range
. 0,1 1 10 ,Y,=18100y L 0,1 ¢ 10 'Y,=18100y
- -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
EES551-1A EES551-2A
logAY  CIE tristimulus value difference AY log(AY/AY,)  CIE tristimulus value difference
Ay aviay, AYnormalized toAY,,
1$10 24100
041 1410
0,398 4,917
N Ne
’
L4 _ — — ¢
_1d 0.1 Yu=18 d¥,=0,08 dY,/Y,=0,004 ,* L1 Z“:l_a'_dﬁl‘.o'f)a.dj”LYE‘E‘(lof P
Pl e - - - P —— log[(dY,)/(dY,)]=0, m,=0,86 ¢, =memmm———
log(dYy)=-1,09 m,=0.86 A application ! ! m .’ : application
0,015, » ‘ \ range 0,18_74 i , range
5 0.1 'S 10 ,Y,=18100y o 0.1 T 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
EES551-3A EES551-4A
log (AY/Y) CIE Y sensitivity log [(AY/Y) I (AYy/Y,)]  CIE Y sensitivity
S=(AYrY) S/S,=(AY/Y)I(AY,/Y,) hormalized to AY,/Y,,
of1 24100
-140,1 1410
3,380
0,015 application *. -~
001 LN range -~ 0,885
-240, e e e e R,
10g(dY,/Y,)=-2,34 m,=-0M8 o _ 0,003 IO, ) (@Y 10, my==0.13 & ind
-Y::-lé’: d-Yu-:O-,O-S a\(:/\-(u;O,-064- T ~ == Y,=18, dY,=0,08 dY,/Y,=0,004 ' application
' range
. 0,1 1 10 !v,=18100y 4 0,1 1 10 "V,=18100y
= -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
EES551-5A EES551-6A
log (Y/AY) CIE Y-based contrast log [(Y/AY) I (Y/AY,)] CIE Y-based contrast
C,=(YIBY) C/Cy=(YIBY)I(Y IbY,Normalized to Y /AY,,
24100
341000 1410
Y,=18, dY,=0,08 Y,/dY =222 251 2
| logl(¥u/dYy) = 2,34 m=0,13 o == 0 ' Y,=18, dY,=0,08 Y,/dY,=222 1129
24100 655" ol 1. AN M=033 |
Pl . | e
: application 0,29> , application
y range L 4 . range
) 0,1 1 10 1Y,=18100y L 0,1 1 10 'Y,=18100y
- -1 0 1, 2 log(V) - -1 0 1 2 log(Y)
EES551-7A EES551-8A
EES551-7N

TUB-test chart EE5S5; Calculated for the LABJND colour-difference formula, see CIE 230:201t
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log [lightnesd_*, thresholdAY, sensitivityAY / Y,contras
C M Y
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tY /AY,unnormalized and normalized]
\Y

L

&l




